

# M2200 Mid1 Review

(1)  $(\bar{q} \wedge (p \rightarrow q)) \rightarrow \bar{p}$

$$\bar{q} \wedge (p \rightarrow q) \rightarrow \bar{p} \equiv \bar{q} \wedge (\bar{p} \vee q) \rightarrow \bar{p}$$

$$\equiv (\bar{q} \wedge \bar{p}) \vee (\bar{q} \wedge q) \rightarrow \bar{p}$$

$$\equiv (\bar{q} \wedge \bar{p}) \vee F \rightarrow \bar{p}$$

$$\equiv \bar{q} \wedge \bar{p} \rightarrow \bar{p}$$

If  $p \equiv T, \bar{p} \equiv F \Rightarrow$

$$(\bar{q} \wedge \bar{p}) \equiv F \Rightarrow (\bar{q} \wedge \bar{p}) \equiv F$$

and  $F \rightarrow \bar{p} \equiv T$

If  $p \equiv F, \bar{p} \equiv T \Rightarrow$

(i)  $\bar{q} \equiv T, \text{ then } T \rightarrow T \equiv T$

(ii)  $\bar{q} \equiv F, \text{ then } F \rightarrow T \equiv T$

(2) Let  $b = \text{bldg}$   $c = \text{college campus}$   $r = \text{room}$  domain: colleges in U.S.

$P(r, b, c) = r \text{ is painted white on } c \text{ in bldg } b.$

$$\exists b \exists c \forall r P(r, b, c)$$

negate:  $\forall b \forall c \exists r \neg P(r, b, c)$

(3)  $p = \text{healthy}$   $q = \text{taste good}$   $a = \text{almond}$   $c = \text{candy}$   
 $R = \text{Carol eats it}$

$$\forall x (p(x) \rightarrow \neg q(x))$$

$$\frac{p(a)}{\therefore \neg q(a)}$$

$$\left\{ \begin{array}{l} R \rightarrow q \\ \neg R(a) \\ \neg p(c) \end{array} \right.$$

$$\frac{p \rightarrow \neg q}{\neg q \rightarrow r}$$

$$\frac{R \rightarrow q}{\neg R(a)} \quad \neg q(a)$$

$\therefore R(a) \text{ already}$

no conclusion

$$\therefore p \rightarrow r$$

- Conditional wording for  $P \rightarrow Q$  (pg 6)
- DeMorgan's Laws (table pg 22)
- Logical equivalence tables (pg 24-25)
- Rules of Inference (pg 64)
- Set Identities (pg 124)



(5)  $\{1, -1, \sqrt{5}, -\sqrt{5}\}$

(6) show  $(B-A) \cup (C-A) = (B \cup C) - A$

(can do w/ membership table)

$B-A = B \cap \bar{A}$        $C-A = C \cap \bar{A}$

$(B \cup C) - A = (B \cup C) \cap \bar{A}$

$$\begin{aligned} (B-A) \cup (C-A) &= (B \cap \bar{A}) \cup (C \cap \bar{A}) \\ &= (\bar{A} \cap B) \cup (\bar{A} \cap C) \\ &= \bar{A} \cap (B \cup C) \\ &= (B \cup C) \cap \bar{A} \\ &= (B \cup C) - A \end{aligned}$$

(7) (a) If  $A-B=A$ , then  $A \cap B = \emptyset$ .

(b) If  $A-B=B-A$ , then  $A=B$ , and  $A-B=\emptyset$ .

(8)  $A_i = \{\dots, -2, -1, 0, 1, \dots, i\}$

$A_1 = \{\dots, -2, -1, 0, 1\}$

$A_2 = \{\dots, -2, -1, 0, 1, 2\}$

$\bigcup_{i=1}^{\infty} A_i = \mathbb{Z}$

$\bigcap_{i=1}^{\infty} A_i = \{\dots, -2, -1, 0, 1\} = A_1$

(9) (a)  $f(x) = 2x + 10$

$\Leftrightarrow f(x) = f(y)$

$f: \mathbb{R} \rightarrow \mathbb{R}$

$2x + 10 = 2y + 10$

$x = y$

$\Rightarrow f$  1-1 for some  $r \in \mathbb{R}$

onto

$2x + 10 = r$

$x = \frac{r-10}{2}$

$\Rightarrow f$  bijective

$f^{-1}(x) = \frac{x-10}{2}$

(b)  $f(x) = x^4 + 1$

not onto:  $r = -3$

$x^4 + 1 = -3$  has NS

not 1-1:  $f(1) = f(-1)$ .

M22∞ mid 1 Rev

(9) (cont) (c)  $f(x) = \frac{x^3+1}{x^3-2}$

1  $f(x) = f(y) \quad \frac{x^3+1}{x^3-2} = \frac{y^3+1}{y^3-2}$

$(x^3+1)(y^3-2) = (y^3+1)(x^3-2)$   
 $x^3y^3 - 2x^3 + y^3 - 2 = x^3y^3 - 2y^3 + x^3 - 2$

$3y^3 = 3x^3$

$x = y \quad \checkmark$

$f$  is 1-1

onto

$r \in \mathbb{R},$

$r = \frac{x^3+1}{x^3-2}$

$r(x^3-2) = x^3+1$

$x^3(r-1) = 1+2r$

$x = \sqrt[3]{\frac{1+2r}{r-1}}$

$\Rightarrow f$  onto

$f^{-1}(x) = \sqrt[3]{\frac{1+2x}{x-1}}$

(10) Prove  $\forall x \in \mathbb{R}, x \geq 0$

pf ① if  $x \in \mathbb{Z}^+$ , then

$\lfloor \sqrt{\lfloor x \rfloor} \rfloor = \lfloor \sqrt{x} \rfloor$

$\lfloor x \rfloor = x \Rightarrow \lfloor \sqrt{\lfloor x \rfloor} \rfloor = \lfloor \sqrt{x} \rfloor \quad \checkmark$

② if  $x \notin \mathbb{Z}^+$ , then  
 $x = n^2 + m + \epsilon$

we can write  $x$  as  
 $n^2$  is largest perfect square

$< x$

$m \in \mathbb{Z}^+, \quad \epsilon \in [0, 1)$

$\Rightarrow \lfloor x \rfloor = \lfloor n^2 + m + \epsilon \rfloor$   
 $= n^2 + m$

$\sqrt{\lfloor x \rfloor} = \sqrt{n^2 + m}$  and  $\sqrt{x} = \sqrt{n^2 + m + \epsilon}$

$\Rightarrow n < \sqrt{\lfloor x \rfloor} < n+1$  and  $n < \sqrt{x} < n+1$

$\Rightarrow \lfloor \sqrt{\lfloor x \rfloor} \rfloor = n$  and  $\lfloor \sqrt{x} \rfloor = n \quad \parallel$

M2200 Mid1 Rev

(11) Prove:  $n$  odd  $\Rightarrow n^2$  odd.

Pf If  $n$  odd, then  $\exists k \in \mathbb{Z} \Rightarrow n = 2k+1$  by defn.

$$(2k+1)^2 = 4k^2 + 4k + 1 = 2 \underbrace{(2k^2 + 2k)}_{\in \mathbb{Z}} + 1 \Rightarrow \overset{n^2}{\text{odd}}$$

(13) Claim  $n^2$  divisible by 3  $\Rightarrow n$  divisible by 3.  
(assume  $n \in \mathbb{Z}$ ).

Pf Assume  $n$  is not divisible by 3.

Then  $\exists m \in \mathbb{Z}, r \in \{1, 2\} \Rightarrow n = 3m+r$

$$\Rightarrow n^2 = (3m+r)^2 = 9m^2 + 6mr + r^2 \\ = 3(3m^2 + 2mr) + r^2$$

and  $r^2 = 1$  or  $4$   
both of which are  
not divisible by 3.

$\Rightarrow n^2$  not divisible by 3  $\Rightarrow$  contradiction  $\Rightarrow n$  is  
divisible by 3 //

(14) Prove  $\lfloor 2x \rfloor = \lfloor x \rfloor + \lfloor x + \frac{1}{2} \rfloor$

Pf let  $x = m + \epsilon$   $m \in \mathbb{Z}, \epsilon \in [0, 1)$

case 1  $\epsilon < \frac{1}{2}$

$$\lfloor 2x \rfloor = \lfloor 2m + 2\epsilon \rfloor = 2m$$

$$\lfloor x \rfloor = \lfloor m + \epsilon \rfloor = m$$

$$\lfloor x + \frac{1}{2} \rfloor = \lfloor m + \epsilon + \frac{1}{2} \rfloor = m$$

$$\Rightarrow \lfloor 2x \rfloor = 2m = m + m = \lfloor x \rfloor + \lfloor x + \frac{1}{2} \rfloor //$$

case 2  $\epsilon \geq \frac{1}{2}$

$$\lfloor 2x \rfloor = \lfloor 2m + 2\epsilon \rfloor = 2m + 1$$

$$\lfloor x \rfloor = m$$

$$\lfloor x + \frac{1}{2} \rfloor = \lfloor m + \epsilon + \frac{1}{2} \rfloor = m + 1$$

$$\lfloor 2x \rfloor = 2m + 1 = m + m + 1 \\ = \lfloor x \rfloor + \lfloor x + \frac{1}{2} \rfloor //$$

(15) Prove  $n^2 \geq 2n$   $\forall n \in \mathbb{N}, n \geq 2$

Pf  $n \geq 2 \Leftrightarrow n-2 \geq 0$   
 $n(n-2) \geq 0$   
 $n^2 \geq 2n //$

(16)

Between any two distinct  $\mathbb{Q}$  #'s,  $\exists$  a rational #.

PF let  $x$  and  $y \in \mathbb{Q}$ .  $\Rightarrow x = \frac{p}{q}$   $y = \frac{a}{b}$ ,  $a, b, p, q \in \mathbb{Z}$   
 $x \neq y$ .  $b \neq 0$   
 $q \neq 0$ .

Then  $\frac{x+y}{2} = \frac{\frac{p}{q} + \frac{a}{b}}{2} = \frac{pb+aq}{2bq} \in \mathbb{Q}$  and  $bq \neq 0$

$\Rightarrow \frac{x+y}{2} \in \mathbb{Q}$  and

$$x < \frac{x+y}{2} < y.$$